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MARKET EFFICIENCY

Multiple Choice Questions


The Concept of An Efficient Market

1. The central issue of efficient markets concerns:

a. regulations

b. information

c. participants

d. structure

(b, easy)

2. An efficient market is defined as one in which:

a. all participants have the same opportunity to make the make the same returns.

b. all participants have the same legal rights and transactions costs.

c. securities’ prices quickly and fully reflect all available information.

d. securities’ prices are completely in line with the intrinsic value.

(c, easy)

3. All “known” information means:

a. past information only.

b. past and current information.

c. past, current, and inferred information.

d. past, current, inferred and relative information.

(c, moderate)

4. What is the result of the widespread usage of the Internet with regards to efficient markets?

a. It makes information cheaper and more accessible thus making markets more efficient.

b. It is subject to new regulation thus marking markets less efficient.

c. It increases the volatility of security prices thus making markets less efficient.

d. It increases competition among brokers thus making markets more efficient.

(a, moderate)

5. If a market is inefficient, as new information is received about a security:

a. nothing will happen.

b. the stock price will fall at first and then later rise.

c. there will be a lag in the adjustment of the stock price

d. there will be negative demand for the stock.

(c, difficult)

6. All of the following conditions must occur for a market to be considered efficient except:

a. Information is costless and widely available to market participants at approximately the same time.

b. Information is generated in a specific fashion such that announcements are basically dependent of each other.

c. There are a large number of rational, profit-maximizing investors who actively participate in the market.

d. Investors react quickly and fully to the new information, causing stock prices to adjust accordingly.

(b, difficult)

7. Tests of the semistrong EMH include:

a. regression analysis.

b. correlation tests that compare the security returns to the overall market return.

c. tests  of the speed of adjustment of stock prices to company announcements.

d. queing line theory tests.

(c, difficult)

8. An efficient market does not require that:

a. stock prices incorporate all information.

b. all known information be reflected in prices.

c. price adjustments occur very quickly.

d. each adjustment be perfect.

(d, easy)

9.
Weak form market efficiency

a. 
implies that the expected return on any security is zero.


b. 
incorporates semi-strong form efficiency.



c. 
involves price and volume information.


d. 
is compatible with technical analysis.

(c, easy)
10.
The highest level of market efficiency is

a. 
weak form efficiency.

b. 
semi-strong form efficiency.

c. 
random walk efficiency.

d. 
strong form efficiency.

(d, easy)

11. 
The weak form of the EMH is supported if successive price changes over time are


a. 
independent of each other.


b. 
negative.


c. 
positive.


d. 
lagged.

(a, easy)

12.
Select the FALSE statement concerning efficient markets.


a. 
The current price of a stock reflects all known information.

 
b. 
Investors will use all relevant data in making their decisions.


c. 
A perfect adjustment in price following any new information occurs.

 
d. 
Following any adjustment, the new price does not have to be the new 

                        equilibrium price.

(c, difficult)

13.
Which of the following statements is true regarding the efficiency of foreign securities and foreign markets?

a.
Foreign securities tend to be more analyzed than U.S. securities.

b.
Foreign markets tend to be less efficient than U.S. markets.
c.
Foreign markets often lag behind U.S. markets as much as 6 months.

d.
All of the above are true.

(b, moderate)

How To Test For Market Efficiency

14.
The random walk hypothesis is most related to the:

a. weak-form EMH

b. semistrong-form EMH

c. semiweak-form EMH

d. strong-form EMH

(a, moderate)
15.
The overreaction hypothesis tends to:

a. support the weak form EMH.

b. not support the weak EMH.

c. support the semistrong form EMH.

d. not support the semistrong form EMH.

(b, difficult)

16. 
Stockholders that own more than ____% of a company's stock are considered insiders by the SEC.

a. 
10

b. 
20

c. 
30

d. 
40

(a, moderate)

17.
Which of the following is NOT a test of semi-strong form efficiency?

a. 
Insider transactions

b. 
Stock splits

c. 
Accounting changes

d. 
Dividend announcements

(a, moderate)

18. 
According to the weak form of the EMH,

 
a. 
successive price changes are biased.


b. 
successive price changes are dependent.


c. 
specified trading rules can prove to be extremely useful in generating 

                        excess returns.

 
d. 
successive price changes are independent.

(d, moderate)

19. 
With regard to market efficiency, identify the INCORRECT statement.

 
a. 
Information is the central issue of the efficient markets concept.


b. 
The most stringent form of market efficiency is the strong form.

 
c. 
The efficient market concept does not require a perfect adjustment in price 

                         following new information.


d. 
Tests of the usefulness of price data are semi-strong form tests.

(d, difficult)

20.
According to the semi-strong form of the EMH, investors who invest in a stock after a highly positive  announcement concerning the stock can expect to earn a(n)


a.
normal return because the stock will be fairly priced when purchased.


b.
extraordinary return because the new information will not affect the price 

                         until later.


c.
loss because things often are not what they seem.


d.
zero return because the next price is expected to be the same as the last 

                       price.

(a, moderate)

21.
A lady  bought 100 shares of a leading diamond mining company with an expected return of 20 percent per year.  The following day the company’s president announced a major new discovery in Arkansas.  The stock price immediately doubled.  This scenario probably best illustrates that the


a.
weak form EMH is not valid.


b.
semi-strong form of EMH is not valid.


c.
market prices are random.


d.
lady was lucky.

(d, moderate)

22.
According to the random walk hypothesis, price(s)


a.
over time are independent of one another.


b.
changes over time are independent.


c.
levels over time are independent.


d.
changes today are dependent on yesterday’s price changes.

(b, moderate)

23.
Studies cited in the text show that technical trading rules based on price and volume data lead to investment timing decisions that


a.
consistently outperform the buy-and-hold strategy.


b.
minimize brokerage costs.


c.
do not provide excess returns after all brokerage costs are deducted.


d.
do provide excess returns to most investors who follow the rules faithfully.

(c, moderate)
24.
The “overreaction hypothesis” states that people overreact to unexpected events.  As a result,

a.
“winner” and “loser” portfolios show no difference in performance over a three-year period.


b.
“winner” portfolios generally outperform the market over a three-year 

                         period.


c.
“loser” portfolios generally continue losing.


d.
“loser” portfolios tend to outperform the market over a three-year period.

(d, moderate)

25.
Evidence concerning the “overreaction hypothesis” indicates that


a.
investors sometimes act irrationally.


b.
investors are consistently risk-averse value maximizers.


c.
the market is even more efficient than the weak-form EMH proposes.


d.
most overreactions occur within the first two days of an economic event.

(a, moderate)

26.
Which of the following is frequently used to test the semistrong form of the EMH?

a.
statistical tests of stock-price change independence

b.
tests of specific trading rules that use past price data

c.
event studies

d.
insider returns

(c, moderate)
Behavioral Finance and Market Anomalies
27. 
Based on the research related to market anomalies, investors should prefer

a. 
low standardized unexpected earnings (SUE) and high P/E ratios.

b. 
low SUE, low P/E stocks.

c. 
high SUE, low P/E stocks.

d. 
high SUE, high P/E stocks.

(c, moderate)

28. 
Which of the following is a market anomaly?

 a. 
A relationship between money supply growth and stock prices.

 b. 
A relationship between P/E ratios and subsequent stock returns.

 c. 
Independence of stock price changes.

 d. 
Adjustment of stock prices due to accounting changes.

(b, difficult)

29. 
The __________ is NOT a market anomaly.

 
a. 
size effect

 
b. 
January effect

 
c. 
earnings announcement anomaly


d. 
accounting changes effect

(d, difficult)

30. 
The January effect concerns: 


a. 
large cap stocks.

 
b. 
mid-cap stocks.


c. 
small cap stocks.

 
d. 
foreign stocks.

(c, easy)

31. 
Which of the following announcements has NOT been involved in a direct test of the semi-strong form of the EMH?


a. 
Dividend announcements


b. 
Accounting changes


c. 
Stock splits

 
d. 
Corporate insiders' actions

(d, moderate)

32. 
Which of the following is NOT an example of a market anomaly?


a. 
Low P/E ratio stocks


b. 
The size effect


c. 
The Value Line ranking system


d. 
IPOs

(d, moderate)
33.
The disposition effect relates to the fact that:

a.
investors tend to overconfident regarding potential stock prices.

b.
investors often experience regrets about trading decisions.

c.
investors are more likely to sell winners than losers.

d.
investors tend to dispose of stocks at the end of the year.

(c, difficult)

34.
Which of the following is true regarding large-cap and small-cap firms?

a.
Large caps have outperformed small caps in recent years.

b.
Small caps have outperformed large caps in recent years.

c.
Small caps and large caps have earned similar returns in recent years.

d.
Both small caps and large caps have outperformed the market indexes in recent years.

(c, moderate)

Some Conclusions About Market Efficiency
35. 
The paradox of efficient markets is that


a. 
even though markets are efficient overall, there are pockets of 

                        inefficiency.


b. 
investors attempting to uncover and use information about security prices 

                        help make the market more efficient.


c. 
news about anomalies makes the market less efficient.


d. 
investors make the market less efficient.

(b, difficult)

36. 
If an investor searches for patterns in security returns by examining various techniques applied to a set of data, this is known as:


a. 
fundamental analysis.

 
b. 
technical analysis.


c. 
data mining.


d. 
random-walk theory.

(c, moderate)

True-False Questions


The Concept of An Efficient Market

1. In a perfectly efficient market, investors are not able to use available information to earn abnormal returns.

(T, moderate)

2. Under the weak form of the EMH, technical analysis that relies on past history of price information is of little or no value.

(T, moderate)

3. Efficient markets are characterized by a large number of speculators.

(F, moderate)

4. If there is less efficiency in foreign markets than in U.S. markets, there should be higher performance in foreign markets than in U.S. markets.

(T, moderate)

5.
An investor who believes in the strong form of the EMH should be an active investor.

(F, moderate)
How To Test For Market Efficiency


6.
A dividend announcement effect would be considered a good test of the 


weak form of the EMH.

(F, moderate)


7.
Short-lived inefficiencies appearing on a random basis constitute evidence 

of market inefficiencies.

(F, moderate)

8.
Consecutive stock price changes have been shown to be 100 percent 
statistically independent of each other.  

(F, easy)


9.
The evidence obtained on weak-form efficiency casts serious doubts on 


fundamental analysis.

(F, moderate)

10.
Tests of the strong-form EMH include studies of corporate insiders and 
event studies.

(F, moderate)

Behavioral Finance and Market Anomalies

11.
Overall, the low P/E strategy should be viewed as a short run strategy.

(F, easy)

12.
A belief in the size-effect anomaly should encourage investors to buy 
large-firm stocks.

(F, easy)

13.
Careful adherence to a low P/E strategy should lead to a well-diversified 
portfolio.

(F, difficult)

Short-Answer Questions

The Concept of An Efficient Market

1.
What types of information are considered in each of the three forms of the EMH?


Answer:
Weak form – past price and volume data



Semi-strong form – all public information



Strong form – all information, public and private
(moderate)

2.
Insider trading is illegal in the U. S.  How is this related to the strong form EMH?

Answer:
If the strong form EMH were valid, insider information would 
have no value to investors because the information would be 
reflected in current prices.  There would be no need for laws 
against insider trading if the strong form EMH were valid

(moderate)

3.
Technical analysis involves identifying historical price and volume patterns in order to predict future price movements.  What does the EMH say about technical analysis?


Answer:
The weak form EMH indicates that all information from past 
prices is reflected in current prices, so that abnormal profits cannot 
be earned by studying historical price patterns.


(moderate)

4.
If securities are fairly priced, then the portfolio manager, it might be argued, has little to do, since searching for undervalued stocks is a losing proposition.  What other activities do money managers perform?


Answer:
Portfolio managers need to (a) diversify the portfolio, (b) set 
appropriate risk levels, (c) determine tax consequences for 
investors, and (d) reduce transactions costs consistent with trading 
requirements.


(moderate)


How To Test for Market Efficiency

5.
What forms of the EMH are strongly supported by economic studies?  What is some evidence?


Answer:
Weak form – Price and volume data show little predictive power.



Semi-strong form – Announcements of information are reflected in 
security prices rapidly.

(moderate).

6.
An oil company’s P/E ratio is 15; its projected EPS is $8; and its price is $120.  Expectations are that a new field will add $1 EPS the next year. If the P/E remains constant, what should happen to the price in an efficient market?  How soon?  Are investors that pay the price after adjustment paying a fair price and are they expected to earn a normal return?  

Answer:
The price should jump to $135 immediately.  Investors are paying 
a fair price and should earn a normal return.


(difficult)

Behavioral Finance and Market Anomalies

7.
What is a market anomaly?  Give examples of several market anomalies.


Answer:
An anomaly is an exception to a rule.  Market anomalies are 
exceptions to the efficient market hypothesis.  Several examples 
follow:



(a) Standardized unexpected earnings (SUE) have a positive 
relationship with future returns.



(b) Low P/E ratio stocks tend to outperform the market.

           

 (c) Size effect studies shows that small capitalization stocks tend 
to earn higher risk-adjusted returns than large companies.

           

 (d) January effect studies have found abnormal returns for small 
stocks in the month of January, especially during the first five 
days.

(difficult)

Critical Thinking/Essay Questions

1.
Some market scholars talk about tiers of stocks in the markets. A top tier on the NYSE would be the largest, most widely held stocks. Second and third tiers would consist of stocks that are less widely held and followed by fewer analysts.  Is it possible that the market might be more efficient for the top tier and progressively less efficient for the lower tiers?

Answer:
Presumably the top tier stocks are more efficient because the more 
analysts that track a stock, the more quickly new information will 
be assessed and acted upon.  The lower tiers are neglected and 
information will not be reflected in their prices as completely and 
quickly.

(difficult)

2.
If an astute (or lucky) market analyst were to find a “money machine” system that consistently beat the market, would the system eventually become self-defeating?

Answer:
The money machine would eventually become self-defeating as the 
market became efficient in the anomaly that caused the money 
machine to work.

(moderate)

Problems

1.
 Nike Inc. reports first quarter earnings of $2.00 per share.  As an investor using the SUE technique, you had estimated earnings to be $1.50 per share, with a standard error of estimate (SEE) of 0.15.

(a) 
Calculate the SUE for Nike.

(b) 
Would this stock be a good buy on the basis of this SUE?

(difficult)

Solution:


(a) 
SUE 
=  (actual EPS - predicted EPS)/SEE =  ($2.00 - $1.50)/0.15 = 3.33

 
(b) 
This would be a good buy because stocks with SUEs greater than 3.0 are attractive.

2. 
Calculate the SUE for a stock with expected second quarter earnings of $1.00 and actual second quarter earnings of $0.75.  The standardization variable is 0.20.  Is this stock one of interest to investors using the SUE technique?

(difficult)

Solution:

SUE 
=  (actual EPS - predicted EPS)/SEE

=  ($0.75 - $1.00)/0.20 = -1.25

The SUE for this stock is too low to justify selling short.

3. 
Listed below are the actual returns on two stocks X and Y, and on the market (RM), along with their  systematic risk measures (Betas) relative to the time period, t.


Stock

Ri,t %

RM,t %

  ai       

Beta


   X

12.2

 15.5

  0

 0.8


   Y

  9.7

   6.0

  0

  1.2

(a)
What is the abnormal return for stock X when you consider its systematic risk measure?

(b) 
What is the abnormal return for stock Y when you consider its systematic risk measure?

(moderate)

Solution:

(a)
Expected Return(X)
= 
Ai + Beta (RM,t)

      



= 
0 + 0.8(15.5)

               



= 
12.4

Abnormal Return 
= 
Actual Return - Expected Return

Abnormal Return (X) 
= 
12.2 - 12.4
=
-0.20

(b) 
Abnormal Return (Y) 
= 
9.7 - [0 + 1.2(6)]
=
2.5 percent

4.
The Auto Company (AC) had expected returns and realized returns for the periods shown below:


Period

Expected Return

Actual Return


1
15%
16%


2
15%
13%



3
15%
17%


4
15%
15%


Calculate the cumulative abnormal return for the four periods.

(moderate)

Solution:


ARit
=
Rit
-
E(Rit)


ARAC1
=
16
-
15
=
1 percent


ARAC2
=
13
-
15
=
-2 percent


ARAC3
=
17
-
15
=
2 percent


ARAC4
=
15
-
15
=
0 percent


CARi
=
(ARit


=
1  +  (-2)  +  2  +  0
=
1 percent
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